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Duck Duck Goose:
(:0%p PIM) 22 TR TR PR
Some words are transformed into plural form, from the singular form, by replacing the “X” with a “”.
Two examples:
(X710

The plural form of this word is 712 (which means “pots”) can be found in X Tnu » 010D for example. |
want to say based on this that the singular form of the word is X712 as we find a similar form by the word
for lote tree and lotus where the singular form is X712

(:x°p O°11OD)

and the plural form is >712
(:nmM113)
:XPA
This is a name of an X7NX:
You can see the singular form and the plural form in this X7703:

(:vD O°’MoAY) X127 XN X1°DD 7IXN K 121 XD 11 9IX

The Goose: Same Difference In Spelling But The Word Is Entirely Different
(:2 P1un) :XpIma
Chair
(72 1) 2P

Immature Grapes
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Three pairs of aramaic words where the difference between pair items est simplement (is simply (fr.)) the
addition or subtraction of a “*”:

(.12 NAW) "www" In’ol

(21 PAw) Xw

Lamp
(.05 1) X
Slips or Slides
(.2°p o’m0B) XNwaAw
A mistake

(:75 1) xnwraw
The woody branches of the grape vine.
Traw
| can’t find it in D”w, but it means “that sifted”.
(.2°p o’mo?) 1w

Blindness

Aramaic Exercise:

| think this might be a good exercise in Aramaic to build your Aramaic Vocabulary.
The Exercise:
Make a list of Aramaic word pairs that are different by only one letter. Here is the challenging part:

The difference has to always be the same letter. E.G. The difference in all these following words are a “*”
being replaced with a “7”.

Example:
(.02 °11) XAPX
Louse
(.10 D1T1) XAIIX

Rabbit
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(.12p 1P211) 1272
Beaver
(PY1 TP NIW XD :0) 272
The Name of an XT1MX in the times of 701 "1
(:XD P77TI0) PN

(:1 PP1un) P

Sticks
(:72 1) P17
Wormy
(.72 nP3un) 27
Pure
Etc. Etc.

The word 1727

The word 127 has 2 meanings:
It means wormy:

(:75 n)
and it means male:

(.23 MAIN2)

Similar Sounding Places In D"
(.12 P2IPPL) :XpPO>TIL

(.12 1) :XNpPOT

(.o r1un) (XPNNON

(.X2 Mn2) :xX»101N
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(:25 NMaw) :xXNnn
(.2 70P TWN) PXNA 2

(.X°P MAIND) IXNM 72

Verbs That The Word Is Doubled In Usage:

(.’ M2N2) 22113 X3

(.02 1) XYW W

(A Man2) TP TRoN

(:7u °mo?) 27 27N

(:7U D’M0D) :PNXW ANV
(5 1) Awen h v
(12 1) WY Xp T0wn
(:¥2 MAIN2) A1 oEeT

(:32 ©773) PIN0 12 D°NoN

Are there 0’992 here about the forms of the words? When a word is added like Xp or 117 etc..?

Acts Of Passive Or Non-Passive Agression Amongst The 0°201:

-8
X
PNR
He was quiet (He ignored the question):

X219 0K XD P AR 11N PR 1 07713 N2 XWIW 102 XIT UKD XPUWIX 0 30 00 KXud
5 IOWI AT DR @RD W IR PR w1 XDPINX XNPA TPPA XU XIINX 7127 X123 XN 07 TN
(.13 MAD°) >IND 79 1°PT XN PKPA PHART PP K KT 71327 X7230KD [0 10K UK
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A
(.71 P2171PL) P2 Nwva

She kicked him.

A
(.X? Naw) 12

He yelled at him.

T
(219 P11 oY) PAKDY PNDKT XIDNT KNI X2 12 XPUT 279 X1 020 AT
He pushed him.
Hal
(.72 P©23) oMY Moan

They overturned his chair.

H
(.¥ D771) XDV PPN
And he smeared mud on him.

| will stop here to give you a chance to recover. | don’t want to overload you. You poor thing. You must be
shaking with fright with all this drama, and\or violence. You might be feeling the following:

4l
(.PP Xnp X22) 121 7PNUT W
He felt bad
4O
(.12 TP TINA) PP TI02 MAX 1P Moy

His father wacked him on the head with his shoe.
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Roman Officials 712 X:
X

(:X¥ 1P777710) 0 N0IK
(1 PW3) :I»0DOX

2

(2P Naw) :Xwp 12

3

(.X2p Naw) X0

T

(:r Pun) 2517

Are any of these not Roman? Do you have a better title?

ML P
17" 0" '

(:20 11 MWN)
125712 P19 MR M2Yn 0"ana)

If the DU2 was 1724 M17°11 12°1 the 0”207 says the 71U goes free, and the 772X argues. Reb Yehoshua
Tzvi Gross wanted to say that 1901 in 17245 11977 7177 2 71U 20 1 is holding like the 772X7, but | am
not so sure. Either way | want to ask what is the X717, as the mIwn says” 0’111 07282 717" and the
X1pon of the XN is 10 071712 1MD2» 77X XY jaimidsbRlellalep) 77K 137 7N »ax X XX so if the fact
that he is not 712> the 0’771 of his 72U means that he doesn’t need to be 79°1 so what is the X717 of
the 724 over the TwX? | think it is more understandable according to the 0”217 that you can say there is
some sort of X177 in that the 721 goes free if the U2 was 19’1 the 773, but according to the 772X
what is the X111 here?
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Was 31’9 A 1719?
(.X37°11) 21 1MBXM LW DPPWT 1A YIN XN DN 53 0nn 11N
(:7M272) 2 AXRPYWYT XN 7T 212 DIWN X

| want to suggest that if 13r1> "7 was a 1112 this could have been a tooth.

Who Should Go To Who?

This one to that one.
(:x21un) 019 1A N 5¥X 1IN 12 7N X2 5K 1IN 127N 5¥X 01D 13 13N X2’ 1UIn Y INX
It is a NP1PMN.
(:77 TT10) WX DYX M INIX XPPY 27 WPHK 27 27127 A DK WK
Neither one should go to the other or This one to that one, It is 121 in two different X1”%’s in the X172,

X IAKT XK TR 2230 770 230 &P1I0 30 023 777 2100 PR XD MWK PTA 7139 P72 71301 P72 X327 K
(:mom) '[h'l'? 719n MIDD MY MY 1172 X217

Who Should Show Up First?

Is It Ever Too Early To Say Something On 1371071 n52p?
M3 0P TPK THU DWIN AN 23T PP I 0P 1 K0 012 X9X 1025 1K P XD "W : i ara

(X:> Mnw)

[alZampivipaiyl DX XY D1P 9K AR KW 07w Pou P70 MWD D°OWI 1AM NI 27 K 57327 K
(.l 071T3) T T 2D DW I AIURAN DX XEXT TIK T2TX

One who arranges to learn a P78 with his friend, he should show up first.
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NP2 XK 0 7722 0773 KT XA 2K X2 2K 0K KNP0 K230 72 2720 0K XNIKUT X01°2 707

(:1o o°r1on)

:X2’X MY 13

(1% P11 °nbun) oo oY .1
(:32 PP3uN) NIPY RTCOY .2
(:X2Paw) pax12cor " .3
(:X2PMAw) X7Ar72°00 "1 .4
(:72p NAw) MIXw 200”1 .5
(.0’p NAW) 2w PPN AOrY .6
(:rPP PAW) 77T Ror M L7
(JoM212)or " .8

(.1 ©°1oD) 12 12 U T PIa Ao .9
(:2 M212) XrIm12°0r 1 .10
(:fp Mn2’) nrinTaor 1 .11
(:Np NIw) Xax 12 70r "1 .12

(.PY NAw) xaw1 or .13

(:X P21IPY) PUAW A N0” 1 .14

(:1% m0) X2 ;200”7 1 .15

(°p O°1oD) XT°W NOP .16

(:70 M) AP T P72 PRY T P72 0K 17
(.u?p NAw) uwHX 1270 .18

(:¥p 0°1oD) *>22771 oY .19

(.7P N2w) X1 12°0r 1 .20

(.10 1AM DU WX I 1200 .21
(. 7IP3M) 77K WK U 12007 .22
(.X> Mn’) 12272700 1 .23

(:1 °PPWw) XNO*P 12°07 1 .24

(:X1p MAW) ANI¥P 12°07 "7 .25

(.7 p2u) AN M2 °0r ' .26

(:X° P217°U) APIR 72 0P 1 .27

(:r2 °ro’) *>Ya o ' .28

(:3 71°37) PPNnRMT 12 0P 1 .29

(.32 70R TWIA) ;27 Aor .30

Here is my X7 that the name >01’ is the same as 701*:
We find that X°119% 12°0°X 12 UAW :
(.79 XXM X22)

Was also called X°119% 12 °07 12 punw
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(.X1 D’r1oR)
So this proves that *0°X is the same as >07’.
Now we know that D¥177 ’X 701’ was also called 777 12 °0°X:

(:¥p 0’roD)
So that proves that >0°X is the same name as 707
S0 07 is *0°X and >0’X is 7OV, So | want to say that >0O7 is the same name as 7O7.

DOXRTNKT D°XIN

There are at least three U¥”9X 12’s in 0"V

(.0%p Naw) uwox a7or .1
(:2° N2w) uwSK 12 PxRuUNY” .2

The NN X127 says that there were two UK 12 PXUNL's.

(.In ) BSK a3

Two Simultaneous Components Of The Mm%’ Mxn:
X972 Unwn Xp Xw3 70 120X K17 TUW a4 D1Wwn X DT 07 WD mXn NP3 P awbw In Tnx

(nn)

WX 12 AKX IRID1 12D 12 [ DA NI9IN MPPW 0 UMK A0 1O 02 Ny DK PTRtn DRw
T°2UnR P PWIU DIRIK ONXK 1D AU N AR AN 90 AN 970 A5 10 nk 10 12 1nK 12an
(:07°13) 121 .11 DT uMKm

Despite the difference of 1°2ui121 2737, they are still both a M¥n, and so are required to be TUN2 XP17.

odbw



